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LAN

CR+LF

:10Base-T/100Base-T
:192.168.1.98 ( )
7777 ( )

mode

R/L

[ ]
mode => REM (

mode => LOC (

rd ch*g

R/L

* CH RX

(*:1 2 a)

Y CH1,CH2
[ ]

rd chlg => CH1G 00123 (CH1
rd ch2g => CH2G 09999 (CH2
rd chag => CHAG 00123,09999 (CH1,CH2

12.3mV)
999.9mV)
12.3mV,999.9mV)

wr ch*g n
(n:0 9999)

* CH RX

(*:1 2)
[ ]
wr chlg 123 => CH1G 0123 (CH1
wr ch2g 9999 => CH2G 9999 (CH2
CH (

12.3mV )

999.9mV )

setip nn.nn.nn.nn

R/L

16

LAN

[ ]
setip C0.A8.01.37 => IP C0.A8.01.37 (IP

"setlan"

192.168.1.55

setpt n
(n:0  65535)

R/L

10

LAN

[ ]
setpt 9999 => PORT 9999 (

"setlan"

9999 )
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setlan R/L setip setpt IP LAN
REMOTE
IP
setip setpt

mac R/L MAC

[ ]

mac => 0050C297004E (MAC 00-50-C2-97-00-4E)
ver R/L

[ ]

Beam-Loss Monitor with Remote Software V1.00
verh R/L (PLD)

[ ]

Beam-Loss Monitor with Remote PLD V1.00

LAN

REMOTE 5 IP

IP :192.168.1.98

77T
REMOTE
IP :192.168.1.98 7777
H10721
0.25 0.9v 5
4

5 \%
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